ITI Electrician 1st Year Module 1 Safety practices and Hand
tools

(1). Which disposal method of waste save lot of energy? | 3gfRy fAge™ fafy Ak %, S
gd IR Sl §aTd! 82

(A) Land fill | ST H WA
(B) Recycling | TG UI

(C) Incineration | HIHDHIT
(D) Composting | Wlc STAAT

Correct Answer : B

S

x>

(2). Which artificial respiration method is to be perf to the victim with injuries on the
chest and belly? | fFT UHR &1 HHH 44 39 ifsa & forw o 8, gt
BT 3R U H e g Q:\~

(A) Schafer’s method | QR fafdr \\'
(B) Mouth to mouth method |

(C) Mouth to nose metho

(D) Nelson’s arm-lift bac&sure method | EGEK Yol $HUX Ut gara fafyr

Correct Answer : B

(3). What is the name of the safety sign? | gﬁﬂT&Tﬁ%’WWW%?




(A) Warning sign | aﬂﬁ:ﬁﬁl'_@

(B) Mandatory sign | G{Wﬁl'_@
(C) Prohibition sign | ﬁﬁ%ﬁlf_é
(D) Information sign | Wﬁlf_ﬁ

Correct Answer : D

(4). Which step of the 5s-concept refers “Standardization”? | stffﬁ'ﬁf[@fﬁ:{w
TIRT “Standardization” &1 3 RTd el %‘?

(A) Step-1

(B) Step-2 &
Q

(C) Step-3

(D) Step-4

)\‘.
Correct Answer : D @

(5). What is the name of road safety sjgt@%ﬁ%?ﬁﬁ%ﬁwqm%?
N}

(A) Mandatory sign | Wﬁl'_ﬁ'
(B) Cautionary sign | Wﬁl'_t‘;
(C) Informatory sign | JdTHD EJ*G

(D) Prohibition sign | ﬁﬁ%ﬁl'_ﬁ'

Correct Answer : A

(6). Which file is used for sharpening the blunt teeth of a tenon saw? | Wé_"l:f W%W

Zidl 1 ool B P for frg Yt o1 Iua fran Sirar 82



(A) Square file | TTHR it

(B) Round file | TTTHR il

(C) Triangular file | FYSITHR it
(D) Half round file | 378 TTTHR il

Correct Answer : C

(7). What is the name of PPE? | WWWW%’

>
(A) Nose mask | -lch hdd o 6\~
(B) Head shield | &% &1 Had "\\

®

(C) Face shield | %IE?XWW

(D) Hand screen | ETHE@

Correct Answer : D

(8). Which type of occupational health hazard is cause for infection? | PO UPR &

IR WY Gk & HRU TsHHUI gl Yabdll 62
(A) Electrical hazard | ﬁi{ﬂ?ﬂﬁw

(B) Biological hazard | WW

(C) Physiological hazard | IRING @aT

(D) Psychological hazard | WW

Correct Answer : B



(9). What is the name of the file? | 3 Yl T &1 -TTH 8?2

(A) Rasp cut file | IRG He Xl
(B) Single cut file | WWW
(C) Double cut file | T8~ e Yal é&

(D) Curved cut file | JPHTHR HE Yl ,\‘
Correct Answer : A @

®

Aol oif §g 1 T Sif¥RmAS uam

(A) Halon type | el UBR @ *

(B) Foam type | AFTUDR

(10). Which type of fire extinguisher is us @:ire on electrical equipment? | ﬁfgﬂﬁm
@:}\_ﬂlal ?

(C) Gas cartridge type | bR
(D) Stored pressure type | Gufed gaTd UhR

Correct Answer : A

(11). Which criteria must be satisfied for the quality of PPE’s? | Wﬁﬂ'ﬁ%ﬁlﬁ%
TFGS! ol O fohdT ST A1fgu?

(A) It can with stand the hazards | dg @ail.ﬁﬂgmé
(B) It can be used for long period | 38 Td THY T ST 4T S bl §
(C) Made by good quality material | G@WWW@W%



(D) Low cost | hH AITd

Correct Answer : A

(12). What is the name of tool? | 3SR WW:HTI%?

(A) Claw hammer | 3T gUIST

(B) Tack hammer | ¢o BUTST

(C) Cross pein hammer | 19 UIH gAST Q’}.
(D) Straight pein hammer | ¢ UF 8YUIST

\"
Correct Answer : B @
(13). What is the name of the tool? | sa;@?mqm%?

>

-

(A) Wire stripper | ?JITCR@:CR

(B) Side cutter | 91§98 hcX
(C) Pincer | fUR¥R (formen)
(D) Gimlet | fincie

Correct Answer : C

(14). What is starving in extinguishing of fire? | 371 @3119{ A werfdm @ %?
(A) Adding fuel to the fire | A A oA e



(B) Using water to cool the fire | 3@@5:?4:[ ST AT

(C) Removing fuel element from the fire | SIcl DI SUART Hch dATTHE HH BT
(D) Preventing oxygen supply to the fire | AU DI RIS Bt HT‘I%@[ AT bRl

Correct Answer : C

(15). Name the part marked ‘X’ of the file. | e g'lil(‘li?ﬂa3 YT hT [ ddIgi-

(A) Edge | TS \
(B) Heel | BT Q/

(C) Tang | e

(D) Shoulder | Sl [ @
Correct Answer : B \\:b

(16). What is the use of firmer ch@% BRIl G'CPCh‘T%?

(A) Paring and finishing join W @T@@ﬁﬁ?ﬁﬁmﬁ
‘&wm@s—vﬂwm
(C) Making rectangular holes in wood | aﬁﬁ SMATHR W& FHT

(B) General chiselling wor

(D) Light chiselling and to clean sharp corner | mqoé] H g eh] SHIHRUT JYUT AT fhARI B

TS

Correct Answer : B



(17). What is the name of the cautionary sign? | 24 TodP iﬁ«s CAGIE EP:IT%?

(A) School | ICEINE

(B) Guarded | TRf&(d

(C) Unguarded | 3fSRfard

(D) Pedestrian crossing | Ucal IR

Correct Answer : D

®

(18). Which plier is used for making wire hooks an@ | DI Y WRR &1 YA dR &
g% 3R U M W gl 82

(A) Flat nose plier | TRIC ol WRR .\Q}‘

v A ° \
(B) Long nose plier | AT AT WITAR \

®

(C) Round nose plier | 38
(D) Diagonal cutting plier P WAR

Correct Answer : C

(19). Which is the golden hour for the victim injured on head with risk of dying? | qﬁtﬂ%ﬁ

! R 7 e Tt § 3R a8 R 2T €, it 34 fory Wi e i W g2
(A) First 15 minutes
(B) First 30 minutes
(C) First 45 minutes
(D) First 60 minutes

Correct Answer : B



(20). What is the name of the tool? | ¥ 3N &1 T A1 %?

(A) Wire stripper | W%’W
(B) Crimping tool | ﬁ?ﬁiﬂ'{@
(C) Combination pliers | PHIFIAA R

(D) Diagonal cutting pliers | S A BT TR \’

Correct Answer : D Q

(21). Which is the physical hazard? | FE T ¥ &
(A) Smoking | Y& \\:b

(B) Vibration | ¥ . ,\.\'\QJ

(C) Corrosive | &RUT @.

(D) Radio active |i'%'5ﬁ

Correct Answer : B $

(22). What will be first-aid to be given to stop the bleeding of the victim? | TifSd & Xad &

8T 1 Aeb o forT a1 UTufires fafoedt Iuersy s Sl 82

(A) Applying ointment | HIgH <IITHI

(B) Keep the injured portion upward | Eﬁ’C’?‘IﬁEE YT DI BHUR IGH]

(C) Covering the wound portion by dressing | Eh??lﬁ@'q wﬁ%ﬁmm
(D) Applying pressure over the injured portion | ?h_c'?“lﬁ@q HITUR adld STl

Correct Answer : D



(23). What is smothering in extinguishing of fire? | A ST T %?

(A) Adding the fuel element to the fire | &r@rfrémﬁmm

(B) Removing the fuel element from the fire | &r@r@rs‘m S bl

(C) Using of water to lower the temperature | SIc] D1 JUINT BB dTIHE HH HIAT

(D) Isolating the fire from the supply of oxygen | 3 BT S DI &ﬂ'{ﬁ@[ A hAT

Correct Answer : D

(24). Which condition of the victim is referred as COMA stage? | Iﬂ%ﬂ oI - O Rufa 1
ST BT oIl 52

(A) Unconscious but can respond to calls | a@"}ﬂ LEll W@T’IWGﬂ? o

(B) Conscious but cannot respond to calls | EﬁQTf[ el U IR A G
(C) Breathing but cannot respond to calls | g o= R IR A AT
(D) Lie totally senseless and do not respond to% aRe {-ialq'-l‘énl-l 6\ION é% Rl Q_d

gAM TR STR A &l \\~
®
Correct Answer : D . \\'Q

®
(25). What is the name of the g% $. ? | SO TS foe sTam M 82

(A) Flat drill bit | e {3 fae

(B) Taper shank bit | TUR ¥ fc
(C) Countersink bit | HTICRD fac
(D) Straight shank bit | ¢ 2 fae



Correct Answer : B



